

STATE CORPORATION COMMISSION OF KANSAS	API NO. 15-
OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM	County Sheridan
ACO-1 WELL HISTORY	East
DESCRIPTION OF WELL AND LEASE	NE SE NW Sec. 15 Twp. 10S Rge. 30W West
Operator: License # 3295	3630 Ft. North from Southeast Corner of Section
Name: David W. Clothier	Ft. West from Southeast Corner of Section (NOTE: Locate well in section plat below.)
Address 225 N. Market, #333	
	Lease Name Clem Albers Well # 1-/5-
City/State/Zip Wichita, KS 67202	Field Name <u>Wildcat</u> Producing Formation <u>NA</u>
Purchaser: NA	
Operator Contact Person: David W. Clothier	Elevation: Ground <u>2896</u> KB <u>2901</u>
Phone (316) 267-9227	Total Depth 4240 PBTD na
Contractor: Name: Murfin Drilling Companyoppea	
License: 6033	
Wellsite Geologist: David W. Clothier	77~1990
CONSERVAL	II AUNIONA
New Well Re-Entry Workover Wichita	1, Kansas 2310 1980 N
Oil SWD Temp. Abd. Gas Inj Delayed Comp.	1650 1 1
Gas Inj Delayed Comp. X Dry Other (Core, Water Supply, etc.	
If OWNO: old well info as follows: Operator:	25 6 4 4 5 6 6 6 6 6 8 8 6 6 6 6 8 8 8 8 8 8 8 8
Well Name:	Amount of Surface Pipe Set and Cemented at 267.13'@275Feet
Comp. Date Old Total Depth	Multiple Stage Cementing Collar Used? Yes X No
Drilling Method:X Mud Rotary Air Rotary Cable	If yes, show depth setFeet
03-12-90 03-17-90 03-18-90	If Alternate II completion, cement circulated from
Spud Date Date Reached TD Completion Date	feet depth to w/ sx cmt.
Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will writing and submitted with the form. See rule 82-3-wireline logs and drillers time log shall be attached with	be held confidential for a period of 12 months if requested in 107 for confidentiality in excess of 12 months. One copy of all this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 all temporarily abandoned wells. Any recompletion, workover or
All requirements of the statutes, rules and regulations promu with and the statements herein are complete and correct to	lgated to regulate the oil and gas industry have been fully complied the best of my knowledge.
Signature	K.C.C. OFFICE USE ONLY
Title Jack E. Goss, Agent for Operator Date 3	
Subscribed and sworn to before me this 29th day of Marc	
19 90. Notary Public (1) & Capie (1)	
Melanie Rau Date Commission Expires 4-18-90	(Specify)
4-10-30	

SIDE TWO

ÖRIGINAL

perator NameDavi	d W. Cloth	ier	Lease Name	Clem Alb	ers	_ Well #	1
	_	East	County Sl	neridan			
ec. <u>15</u> Twp. <u>10S</u>		West					
NSTRUCTIONS: Show in nterval tested, time ydrostatic pressures, f more space is neede	tool open and bottom hole to	d closed, flowing an emperature, fluid rec					
rill Stem Tests Taker (Attach Additional	Sheets.)	Yes No		_	Formation Descr	iption	
amples Sent to Geolog	gical Survey	🗓 Yes 🗌 No		[Log 😾	Sample	
ores Taken		🗌 Yes 🖫 No	Name		Тор	Botto	m
lectric Log Run (Submit Copy.) DST#1, 4150-420 ud; IFP 20-20#/			Anhydrit Base anh Topeka Heebner KC Stark BKC TD	ydrite 24 33 39 39 4 4	167(+434) 199(+402) 714(-813) 934(-1033) 970(-1069) 181(-1280) 237(-1339) 240(-1339)		
		CASING RECORD		sed	production, et	c.	
Purpose of String	Size Hole	Size Casing Set (In 0.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	121 "	8-5/8"		274	60/40 Poz	180	2% gel, 3% (
Shots Per Foot	PERFORATION Specify Foota	N RECORD ge of Each Interval P	Perforated	Acid, (Amount an	Fracture, Shot, d Kind of Mater	Cement Sq ial Used)	ueeze Record Depth
TUBING RECORD	Size	Set At	Packer At	Liner Run	☐ _{Yes} ☐	No	
Date of First Produ	ction Produci	ng Method	Pumping [] (as lift \Box			
Estimated Production	n Oil	Bbls. Gas	Mcf Wate	· · · · · · · · · · · · · · · · · · ·			Gravity
		MF	THOD OF COMPLET	ION	·····	· · · · · · · · · · · · · · · · · · ·	Production Interv
Disposition of Gas: Uented Solo			Hole Perf		Dually Complete	ed 🗆 Com	mingled
(If vented, su	ubmit ACO-18.)	Othe	r (Specify)				

INVOICE



100

REMIT TO: F.O. BOX 951046 DALLAS. TX 75395~1046

INVOICE NO.

HALLIBURTON SERVICES

A Halliburton Company

863306 03/17/1990

DATE

003300 03/1/7

WELL LEASE NO./PLANT NAME WELL/PLANT LOCATION STATE WELL/PLANT OWNER

CLEM ALBERS 1-15 SHERIDAN KS CLOTHIER

SERVICE LOCATION CONTRACTOR JOB PURPOSE TICKET DATE

OBERLIN MURFIN 2 PLUG TO ABANDON 03/17/1990

ACCT. NO. CUSTOMER AGENT VENDOR NO. CUSTOMER P.O. NUMBER SHIPPED VIA FILE NO.

168395 ALEN FAVINGER COMPANY TRUCK 92032

15-179-20954-00-00

DAVID W. CLOTHIER 225 N. MARKET, #333 WICHITA, KS 67202 DIRECT CORRESPONDENCE TO:

SUITE 600 COLORADO DERBY BUILDING WICHITA, KS 67202-0000

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
PRICING ARE	A - MID CONTINENT				
000-117	MILEAGE	16	MI	2.20	35.20
		1	UNT		
090-910	MISCELLANEOUS PUMPING JOB	1	TRK	370.00	370.00
090-928	MISCELLANEOUS PUMP JOB-ADD HRS	2	HR	84.00	168.00
**		1	TRK		
030-503	CMTG PLUG LA-11, CP-1, CP-3, TOP	8 5/8	IN	59.00	59.00
		1	EA		
	STANDARD CEMENT	114	SK	6.75	769.50
	POZMIX A	76	SK	3.50	266.00
i i	HALLIBURTON-GEL 2%	3	SK	.00	N/C
· ·	HALLIBURTON-GEL BENTONITE	7	SK	13.00	91.00
	FLOCELE	48	LB	1.23	59.04
	BULK SERVICE CHARGE	190	CFT	. 95	180.50
500-306	MILEAGE CMTG MAT DEL OR RETURN	138.78	TMI	.70	97.15
.3				·	
	T 2 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7				A A A C F A A
	INVOICE SUBTOTAL		0-	CEIVED ATTOM COMMISSION	2,095.39
	TO THE COMPANIES OF THE STATE OF	STATE	CORRE	CEIVED	410.07
	DISCOUNT-(BID)	-	O MANUE	ATION COMMO	419.07-
	INVOICE BID AMOUNT		111Ai a	SSION	1,676.32
	*-KANSAS STATE SALES	,	1/	7 1990	69.23
,	*-DECATUR COUNTY SALI		9	VITGI	16.29
	DECRICK COURT DAD	LU IAA	ERVATI Jichita,	*** **********************************	10.27
	·		···uita,	(ansas	·
		,			
		1			
	•				
,			.		
			.		
* • •		•			
	INVOICE TOTAL - PLEASE PAY THI	S AMOUNT ==			\$1,761.84
	TEDMS ANTT OVER SOTU OF THE SO	LI CHING MONTH AFTER	DATE OF	INVOICE LIBON	· **

INVOICE



REMIT TO:

P.O. BOX 951046

DALLAS, TX 75395-1046

HALLIBURTON SERVICES

A Halliburton Company

INVOICE NO. <u>00-00</u> 863261 03/12/1990

* .*	WELL LEASE NO./PLANT NAME		WELL/PLANT LOCATION		STATE	WELL/PLANT OWNER			
CLEM AL	BERS 1-15		SHERIDAN +		KS	DAVID W.	CLOTHIE	R	
SEF	RVICE LOCATION	CONTRA	CTOR	JOB PURPOSE			TICKET DATE		
OBERLIN		MURFIN #2		CEMENT SURFACE	CASIN	IG .	/03/12	/1990	
ACCT. NO.	CUSTOMER AC	GENT	VENDOR NO.	CUSTOMER P.O.	NUMBER	SHIPPE	AIV, C	FILE NO.	
168395	STEVE CARLTON					COMPANY	/ TRUCK	91756	

15-179-20954-00-00

DIRECT CORRESPONDENCE TO:

DAVID W. CLOTHIER 225 N. MARKET, #333 SUITE 600 COLORADO DERBY BUILDING

W	IICHITA, KS 67202	WIC	CHIT	A, KS 67202-0	000
	y.				
PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT, PRICE	AMOUNT
	A - MID CONTINENT ()6-0 MILEAGE]- 990 28	MI	2.20	61.60
-001-016	CEMENTING CASING	1 275	UNT FT UNT	395.00	395.00
030-503	CMTG'PLUG LA-11,CP-1,CP-3,TOP	8 5/8	IN EA	59.00	59.00
506-105 506-121	STANDARD CEMENT POZMIX A HALLIBURTON-GEL 2%	108 72 3	sk sk sk	6.75 3.50 .00	729.00 252.00 N/C
500-207	ANHYDROUS CALCIUM CHLORIDE BULK SERVICE CHARGE MILEAGE CMTG MAT DEL OR RETURN		SK CFT TMI	26.25 .95 .70	131.25 180.50 90.64
	INVOICE SUBTOTAL	. *	•		1,898.99
State of the state	, DISCOUNT-(BID) O INVOICE BID AMOUNT	STATE	RE	CIONO7-190	379.794 1,519.20
And the second of the second o	*-KANSAS STATE SALES *-DECATUR COUNTY SALE	TAX ES TAX	'UN O	7 1000	QQC 47.04 11.07
Č 	341	200	AVATic Ichita. K	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	A SERVE OF
				-40	
				•	a harring had also as any agranging

- PLEASE PAY THIS